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1. 1+6+11+16+...... +n =148F n =7

(a) 36 (b) 37
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(c) 31 (d) 46
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1 0 1 3

(@) [3 1] (b) [ 3 -1] (){#3 1] (d){o 1]
4. R o p O T 2+ 20+ 2=0B P O A a2+ f2=?

(a) 0" - | (b) 4 (c) 8 (d) -4
5. * “INDEPENDENCE” 7% & 3@l %Y PR wamt ¥ aotrar a7 s ¥ ?

| |22 12

__(ﬂl_..;jE N (b) an (c) Gl (d) None
6. E,"‘;ll_-i -2

(a) O ) 2 () 1 (d) -1
7. Il+amx-?

0

(a) v2 -1 b) ~v2 -1 () 1-v2 () 1+/2
8. II'EIdI=?

(a) e (x+1)+C-1
() ¢ (1- x)+C

=7

9, Iff(x)-— 2‘/-
(a) > ®) %

m.zrﬁs=3:2+2t+5m'fs gh @&+ 999 & o3 w1 & A 2 /@S &

qC T g1 BT ¢

(a) 63@TE

(b) 135=r
32
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(d) T ¥ & T

(c) 2 {(d) 4

() 143 (d) 1538
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0SS X dx = ?
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fj? 17 (b) 22 (©) 27 (d) 37

R x-C0S X B e WIS #47 80 ?
9 3 (®) V2 @+ @1

% a8 A(s,0),B(0, b)Q,'q' C (1, 1) 939 (collinear) it afid—
p) a+b=1 (®) 1+la1 (@ ab=1 (d) None

b g & TEtET 3x + 4y =25 W I N ¥ & IR & Fams @
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(b) (4, 3) (c) (6 8) (d) (-6, 8)
e 16 (22 + 1) + 24x +32y +9 =03 B of—
) 3 b 1 © 2 @ 1
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24,

25.

26.

27.

28.

9.

30.

31.

32.

33.

35.

-4y —4x -8 =0% ¥ (vertex) & Fume @

yeasd (parabola) y* 36
B ?
(@ G -2) (b) (=3,2) () (3,-2) (d) (3,2)
> > — » - 37

@Wﬂ@ﬁaﬁﬁmf-sjukqﬁ(-nzj)mﬁaﬁﬁﬁ%% :
THH ATHS KT &I 7 | »
@5@E b 6wE (@ VA (@) Ll
x -3 FI Direction Cosines &1 8 ? 39,
(a) (0,0,1) (b) (0,1,1) © 1,L,1) (d) (1,00

B. AT 9 | 0
TRATY WSS B (Indian National Congress) & W91 %9 % &t ?
(a) fem=T, 1885 (b) TS, 1890 41.
(c) Rrama, 1888 (d) = A ®E T
15 (Titan) Fretfolga & 4 f6g e &1 qumR.2 7 42.
(a) g9 (Mercury) (b) 91 (Saturn)
(c) T (Mars) (d) gew@id (Jupiter) .
g4 & qaliys ee P9 78 (Planet) & 7
(a) wfH (b) TH (c) g (d) gAY
‘IS At Req’ 9 awwEr A ¥ *

() 10RPIT (b)) 10RE=T () 10dRE  (d) 5 =R

FTET IS TD Hel Raa & ?

(@) ST (b) TR (c) T w_yT  (d) 3™

IYASCTTY & Brfpro f6a ol & g § 7

(a) 439 (b) 5ad (c) 63 (d) 578 & &g T¢
ATA9E 4, INE & Sfie—

(a) & (b) AR (c) s (d) Fafes

&l g (Black Soil) & & a7 fohg 10 & AT vy & 7 48
(@) T (b) @Y (c) ST (d) o

eI & T RT &l {69 9 § S Sran & 2 49,
(a) &I qE (b) ARER T (c) FHT T (d) NSHST a<

‘qrarh Fet @ sy & 2 | 50.
(a) SITaA - (b) ies

(¢) Ho To i (d) To ITHIHT

45.

_WWMﬁWWMHmﬂQmﬁ?

(a) U 8= (b) TR Arag

(c) faTareet ufzga (d) T H13 &l

(yraayed Feward fhg 78 9w e § ?

(a) PO (b) @ (c) Ffar (d) sRTE
qrfrag @t &g oo ag gs & ?

(a) 152630 (b} 1566 %o (c) 155630  (d) 176130
3 @ faog e o gue ke & e B9 a1 ?

() R gm () RBgeg (o) T EE (d) ¥ 8 &R
WA &1 [T g3 aT— |
a) #Ha< Mz (b) HIIvEEET @ &0

(c) [ A T (d) T B3 =T

B RN (Finance Commission) &1 HA%e f6ay a9 &1 81 & 7
(a) 239 (b) 399 (¢) 538 (d) 6 a9
FIaTERT (Cell) & AHHI fHa fhar ?

(a) I3 (b) T & (c) BBm (d) 953
qE & R JUTEE 9 UF 9 W SIETHT & g 8 e ?
(a) TGS 39T (b) drerdt aor &8

(c) orEaEIgT el (d) i e
S g I Wa T I A&7

(a) We= A (b) nERE afEd (o) asmwar () g
fog (Greenland) &ef Raa &7

(a) Jo qIIT TEETR H (b) f& werar |

(c) aesifed WETETR H (d) rfed AEMENR o

. U AT o &9 @ g

(b) Eios (c) To hET  (d) FHHR

(a) SIY™

. faya &1 e S Sowud ‘e’ o tu A Rag & ?

(a) &F (b) Ay (c) o anhisi(d) HAreT
i@ i wfamoaufisram &I &7

(a) @A (b) wmET (c) Ui (d)
fyyq ¥ gaifers @ (Coffee) ITMET HT IT 2T DI & 7

(a) WRd (b) =i (c) F™I@ (d) MNI®!
‘93 AR B (WTO) & ®79-T %9 g% 41 7

(a) 1 Saft, 1993 (b) 1, 1995

(c) 13y, 1994 (d) T & B



C. fomm | 65. TN T AED T— | |
d) ¥ ¥ FE el
51. BIX FW 1010/ Fo & I ] THATM & & T 153308 F 200 ey ORAULY (b) T & (c)T?()ﬁﬁ B
B g T BT & | @ H A o6, 3a% 39 ¥ fglt W Raa agg & whfew & :

) gmls’ 2 s’ 32 5,2 W @f7 (b) 2of R
52. gﬁr?a; W a.ag;)ae?a i/%:trq- ) q(12__5 me Dam (€) 2fFen oid @ A (d) 3 W
(a) geami @ (b) Fgam 2 W 7. AT TG B AED T—
(c) sraRafda war2 (d) T ¥ B 7§ (a) & (b) @ (c) s (d) T

68. TSI AT Bl fam §— o
@) MLT 84 ) IMLET %K (o) MLT 'K ')(d) (MLT™ ]
69. 2 STNAT 7 e &1 IAUTL Al & &G B Zh Y FT-HEA 3—

h3. ﬂﬁi?ﬁ?ﬁ}aﬂ"ﬁa'{(hdnving Coil Galvanometer) &g fiaig gt s
&I 6 ?

(@) Fgq e H gada v (b) wefig guE

(0 I A I (d) 375 & B T8 @ s ) qoRef (O e () o @ B
54. TEHIT AF @ drgat 1 S.LUES - 70. 9% &I THAH &— R
(a) a=X (b) ag/dto? (o) J=/Hro  (d) T A B T (a) 100°C (b) 212°F (c) 0°C (d) 100°F
55. @1z & T 20 second F 400 e Feh & | aga snad-Bre RrfdRa 71. ‘¢’ BT "M A T REAT AT §—
S B ? | (a) 7-803 m/sec (b) 89026 m/sec®
(a) g% second (b) El-[-]- second (c) Elﬁ second (d) 10 second (c) 9-80665m/sec (d) % & B A& -
56. SIS HATEf (Moment of Inertia) #T S.I. 95& &— 72. f&dft ao® 9 20 {9 &l A 2 second TH YaIidd 3 &, & o
(a) Frmo #o?  (b) fEmrosfi2 (c) fuio/Ho3 (d) furo /et yarfed 9T BFi— | - -
57. THYq §7 W 220V 3K 200W aifdea & wirdg & o @@ e 2 @ 0Tdm  (b) I5THR (o) 75 THAT (d) 10 TR
(@) 142am  (b) 24289 (0) 329 (d) 42 3 73. S67 (Heat) fFaar s & ?
58. 1%l oade 39 # BIEE gl 50 cm ¥, TWAY T (Power) FT 8 2 (2) 3 (b) (c) afe (d) 59 q IR el
(a) 02D (b) 2D (c) 0-02D (d) 20D W 74 A § aed @ e 3 o 9 are i ® B adu (Mirror) @& 54T
59. mﬁ'@'@q(Nuclearﬁssion)ﬁ%ﬂmﬁﬁmmm%? BT &7
(a) Wﬁ ~ (b) R - (c) A (d) T (a) ITe (b) TS (c) g9 (d) ¥ & 3% T
60. ey w3 Y foe ¢ W 75. U-238wd U-235% i & g a9t gt 3—
@ MLT ) ®BMLTITY (o) MLT ] @ My (a) 146,143 (b) 143,146 (c) 92,146 (d) 92,143
61. 1 %4 oo & & Rrerds e 22 - D. ENGLISH |
@10°°m 10 % @10 (d)10 . ' -
62. TNRJT & AEF E— Directions (76-80) : Read the following passage and answer the
questions very carefully : —
(a) @ (b) &2 (c) @’ (d) oty Ashoka was one of the best and greatest kings the world has known. His
63. T T W9 ¥ oY & e T tather, Bindusara, had become the ruler of nearly the whole of India. When

Ashoka became king after his father’s death, he found that there was one
Important part of India which did not belong to him. This was the Kingdom
of Kalinga, which was the old name of today’s Orissa.

Ashoka wanted to show his power and win Kalinga. So he led his army
against Kalinga. Along and terrible war took place. Many men were wounded

@ =g  GEIE () (@) 7% § B T8

64. 1099ﬁﬁaaﬁmmﬁ2maﬁmsfﬁﬂzﬁmﬁﬁaﬂwﬁ%
afe J &1 71 ©F (1) &, @ arR & I9= SO F A S

(a) 140005  (b) 120005  (c) 110005 (d) 10,000 Jo




and many died. At last Ashoka won and took Kalinga. But he became ve

sad, after seeing so many dead soldiers, and so many wounded and blee (a) by (b} In (c) from
Ing aqd crying with pain. His mind was completely changed. He madey sneha is proud .......... her beautiful face.
his mind that he would never start another war as long as he lived. ARE? ° N (b) about (c) from
he never did. Instead of fighting, Ashoka spent all his time trying to he (a) to > @ i 1ght
and do gﬂnc_l the people over whom he ruled. He was greatly impressgib3. E—— thieves entered the village at night.
l;y ?ehteiach;:gs of the Buddha. Buddhism taught people to be very kiny (a) crew (b) suite (c) gang

0 Asho came a Buddhist himself, and tried his best to make othe < di —
follow the teaching of the Buddha. - o Do as directed:
76. Who was Bindusara ? Where did he rule ? & (Ejhe;rry

5. par

77. When did Ashoka become king ? Which part of India did not belon
to Ashoka ?

78. Why did Ashoka’s mind change completely atter the Kalinga War ?
79. Instead of fighting what did Ashoka want to do ?
80. What is the modern name of Kalinga ?

1 \What is the ime .......... your watch ?

58 1told her that she had done well.
9. the nile is a large river in egypt

(d) into

(d) of

(4) commuittee

(Give plural form)

(Give feminine word)

5. The next step was taken by a Dutch doctor in Java.
. 57 Birbal was too clever not 10 answer the difficult qu

(Change the voice)
estion. (Remove "Too’)

(Change into direct)

(Punctuate the given senterce)
(Give Superlative Form)

Direction (81-82) : Pick up the correct Synonyms for each of the followi g 100- Far
words :
81. Growth
. v
(@) decrease (b) development (c)failure (d) decline & 1. (@) 2. (¢)
82. Observing | 6. (b) 7. (a)
(a) looking (b) critical (c) watching (d) examining 11. (b) 12. Ei))
Direction (83-84) : Pick up th . 16. (C) 17.
o ! ( } : Pick up the correct Antonyms for each of the followin, o1, (d) 22. (d)
83. Entangle B. G fH
(a) free (b) wrap (c) arrest (d) escape | | 26. (a) 27. (b)
84. Discrimination | 31. (b) 32. (c)
(a) incrimination (b) equality (c) partiality (d) justice i 36. (a) 37. ((‘Eg
Direction (85-93) : Fill in the blank with suitabl ven in the 41. (c) 42.
hoices. ith suttable words given in the 46. (2) 47. (b)
85. A person who mends shoes is called ........ | C. fasm
(a) Cﬂi?blﬂf (b) plumber (c) mechanic (d) shoesshine | 51. (b) 52. (b)
86. The Rajputs fought ........... against the Mughals. 56. (a) 57. (b}
(@) cruelly (b) fiercely (c) greedily  (d) bravely 61. (a) 62. (b)
87. These shoes belong to Binay; they are .......... | 6. d) o (El)
(a) their (b) theirs {(c) his (d) her 1 71. () 7 @
88. .......... Taj Mahal is one of the wonders of the world. D. ENGLISH
(a) the (b} a (c) an {(d) no article :
89. Of the two girls, Rimais ......... than the other 81. (b) 82. (c)
. (a) pretty  (b) prettier (c) more ' | 86. (d) 87. (c)
; pretty(d) more prettier
90. The girl with the long brown hair ........ my beloved. | 71 {a) 92. ()

3

3. (a)
8. (b)
13. (¢}
18. (a)
23. (b)

28. (c)
33. (a)
38. (c)
43. (b)
48. (a)

53. (a)
58. (b)
63. (a)
68. (c)
73. (b)

83, (a)
88. (a)
93. (¢)

4.
9.
14.
19.
24.

29,
34.
39.
44,
49,

o4.
59.
64.
69.

(a)
(b)
(a)
(b)
(d)

(b)
(c)
(b)
(a)
(c)

(b)
(c)
(b)
(b)

74. {a)

55.
60.
65,
70.
7D.

85.
90.

(b)
(a)
(a)
(c)
(a)

Q. No. 76, 77, 78, 79, 80, 94, 95, 96, 97, 98, 99, 100 & explanation < |
84. (b)
89. (b)

(a)
(a)

(ﬂ) iS (b) are (C) has (d) am h L _




| ST arermia |

, '-rqﬁﬁzlﬁ
= 72x1+(r-1)5} =148

= %‘(2-!'51'-5)-_- 148
= r(5r-3)=29¢

S W AP %1 frag gz = 7 1
rr rr an'__hls
= a+ 2d —
a+6d=15

3. (a) A=[I 3] °!

4' (ﬂ) ﬂ"f-B:-:lg

5. (c)

0 1] ¥ Tranpose Matrix

P 2 aﬁ-:‘iz‘
o’ + 8 =(u+ﬁ)1_.2uﬁ=4__4=0

INDEPENDENCE gj= ¥ 12 saw § Ry IWME & Nogap

2
=lim 1-x = [ (1+-1’)(1—I) .
i

x—] (1"*.1')

el b

10.

11.

15.

16.
17.

18.

19.

@ 2 si* 2T |
. (@) tBW T AHE (square matrix) & 6T ATHE I HE @ OT ITD

9T ol qUa

it og-x-9 Lz 7

J;_(I-‘l)
1
2

X

x)°
(21-{14)_ X+4
2xvx  4x/x
4+4 8 1
f’(4)=4x4ﬁ-4x4x2-4

() s=3F+2t+5 -~ 2 _6t+2
2%%ﬂga'%aﬁw=(%) =14 3513

5 =2 X
Jl+cos21
2

- f (x) =%'
=1.
2

1 :
dx=2 X+

0 O

35+ 7)-(o- )5

32."
(b) fmszxdx=
0

. (@) cos (sin_1%+cm_ll)=cm(£)=ﬂ

4 2

3-7i 2-5i (6-35)+(-15-141 —29-29;

29 -~ 29

=-1—1

Rows &I §1d columns ¥ I3od &

010 010
AA: (100 |WMgmsHa {1 0 0 | i
001} 001
(d) n(S)=98 n(E)=19
19
P(E)=% |
2 1
3 {1y (1y_, 1 1 3
@ e s °C, (1) (1) -axbx .3

b) n(MUP)=aM)+n(P)—n(MnNP)
100=65+57-n (M N P)

= n(MNP)=122-100=22

(a) sinx-cnﬂx=%25im-cﬂsx=%sin2x
sin2x &7 AUHIR A1 = 1

HT:, sinx - cosx &HY ATYHTH A =l

2
(b) i 9 farg s & @ v 91 I A T &S 36T BT |

S1ab~1)+0(1-0)+1(0-5)=0

= gb—a—-b=1{) = a+b=uab = %+%=l

41



RYRRY-1 qrT R 2T 9 99 & 918 (a, B E

Hd:, 3o+ 48 =25
-3

WB{'@T%‘TW:I

mmgﬁnﬁmmm:%

AT AT Then 43

C. A=

2
$=ul+ 5 &t

s

31, ib)
= 2(]{}=10><15+-127n><15><15
300 + 225z = 400

= 15{]+g§—5-a=200

= 225a = 400 - 300 = 100

b3 100 4 .2
a 4 — n=ﬁ=9m/5
4 .
:_éf:‘. 4 55. (b) 20 sec ¥ 400 &1+
. AV 1€ .
FAIHTT (1) T (i) F— 3o + 4 x 5 =25 1 sec %QUW
9o + 1600 =25%x3 = a=3 o p=4 .
Cﬂl@'iﬁ:Z(] Z
s aﬁrmﬁ?lﬁ:(i’;, Y AT HS = == second
21. (d) g9 &1 FHIGTO 16(x2 + 1?) + 24x + 32y + 9 =0 20
. 3x 9 L3 .9 , % * 220% 220
— xl+yl+?+2y+—]—6=0 *3:5?{-5_4rf“1rf—16 57 (b)g—qaﬁﬁa’mﬁz% — Rzzzzéj{}= 200 = 242€2
T3 9 9
_ DR - S . . 1 100
e L e N 5&(b)P=%(H%Tf‘ﬂETﬁ%’WﬂT%® = P=—55="5 =20
2 2 o _ — 100
22. (d) Rmn mar it 2+ dxy + P —4Ax + 2y — 7 =0 61, (b) T F— 100
39 TG B oax® + 2hxy + byt + 2gx + 2fy + ¢ = 0 TIEN M - I Re
v ; .
=27 X 10 % - =5 x 60 HBHUE
a=1,b=1h=2¢=-2f=1c=~7 X105 X 60 [+ BT =5 x ;
ah g 12 -2 ~ 12000 9%
Wb fl=| 21 1 72 (d) - 1 -1 =7 =240 ure

=(1x-8)2{(<14+2)-2(2+2)=—8+24-8=8:=0
Jt—ab=(2)Y-1=3>0
ara: fewn mar g sifraraeg (hyperbola) &1 FTHET 8
23. (b) TET & FHIHIT > — 4y —4x -8 =10
= (y—2)=4(x+3)

D. ENGLISH

76. Bindusara was Ashoka's father. He ruled over the whole India.

77. After his father's death, he became king. Kalinga did not belong to
Ashoka.

After seeing so many dead soldiers, and so many wounded and
bleeding and crying with pain. His mind was completely changed.

= P-4y +4=4x+12 /8.

TIgsd &7 9 = {x + 3

|]

0, y-2=0}=1{-3,2 4 L ,
T _4y o =1 i 79. Instead of fighting, the spent-all his time trying to help and do good
24, (d) T BB a=i - 3j+ 2k AT b=~ +2j to J[lilE people over whom he ruled. He was greatly tmpressed by the
. teachings of Buddha.
HHTAT IS FI &o = %\ axh \ 80. Orissa is the modern name of Kalinga.
P 8. (b) Growth (n)—3fz / fawm
axb=|1 -3 2/=—di— 2; ~k Syns : development, Increase, enlargement, expansion.
-1 2 0

Ants : decrease, failure,decline—3a&md
2. {c) Observing (adj.)—’aﬂ‘cﬁ

Svns : attentive, watching, viewing, perceiving.

A, THTAT TG A @ E?mzé-ﬂmphi?mé

Fi L



44
83.

83.

87.

89.

The teacher, with all his students, are sitting in the class.
You, like your brother, are hard working_
You, like your brother, is hard working.

45

i et ol AR el v
(a) Entangle (v)}—310 ¥ GAMI, SR § SO, TGS BT | Singular Plural Singular Plural
Syns : Catch, entrap, tangle, puzzle Diary Diaries Enemy Enemies
Ants : Free, disentangle—(%® | Tad &) Pastry Pastries History Histories
(b) Descrimination &1 #& 9%-919 BiaT &, ST equality &1 e v Story Stnrlesi Party Parties
equality, descrimination & Antonym & | 3 [4&%eT ‘b’ IUGH & Lottery Lottteries Lady Ladies
(a) cobbler = A Baby Babies _ Penny Pennies
g T@— Country Countries Fly Flies
Ber Berries Dai "
1. A disease that spre:ads over a largt'e area —Epidemic (% Fm-rr;r Fairies Y Dairies
2. Aplace for the burial of dead bodies —Cemetery (aifﬁ'{ﬁﬁlﬂ 95. Countess, Earl & Feminine word & |
3. Persons who work inthe same department of an office .
. qE T@—
—Colleagues (GeH Masculine Feminin M
nine : ..
4. Words different in meaning but similar in sound Buck Doe Baz;::}me gef““““e
r Inste ‘
—Homonym (ga-qat-=de g Bull Cow Gander Goose P I Maid
5. A man whose wife is dead—widower (fae) Wizard Witch Monk Nun
(d) bravely, sentence & 34 @& U SUgH ¥ | HartRoe Stag Hind
(c}) These shoes, Binay ¥ related ® | RamEwe Count Countess etc.
&d: Binay % f¥T Possessive pronoun ‘his’ 3Wad ¥ | 7. A Dutch‘ doctor took the next step In Java. (Active Voice)
(a) The & ST correct & | 1C : Active Voice & Passive Voice 1 &7 faga—
Are : The & ¥4I historical building, —Red fort, Tajmahal, Golg otep (1) : Active Voice @ object @! passive voice ¥ subject &l 37Ts e |
Jama Maszid, Qutubminar etc. & 983 8T & | Step (2) : Tense & Taf4% Auxiliary Verb &1 iy a3 !
i.e. The Red fort (V)  ARed fort ( Step (3) : Main Verb ®t 1 wy & |
The Golghar N V) AGolghar R Step (4): by prep. &1 wirT 7 |
{b) Prettier &1 Ia7T J9Yh © | Gte DA s . . .
p (5) : Active voice @ subject & pass; - + _
2 : of the two & 489 1 9IS comparative degree & adjective &1 1T e, Savitr : .] passive voice T object 31 e o |
_ o 3 dra s ’ N o Le. Savitrl loves sita—Active
| ZRBG! AT ELS| selection - w1 B 9 B oY | Sita is loved by Savitri—Passive
i.e. of the two teachers. N. K. Pandey s better than the other. 97. Birbal was so clever that he could answer the difficult question.
of the two teachers, N. K. Pandey is the best than the other,  ( T2 : AR sentence S + AV .
Rekha is the fatter of the two women " 100+ Adj/ Adv. + notto + MV' + O B
Structure R AMTRT &, @ ‘too’ H D
Rekha is the fatter than the two women ( ' - notto % T Rule &
_ : 9% EerT Sy §
(@) s ”Eh—q ﬁ'—r"' 7 & are &1 | o N | | Rule—S+ AV +50 + Adj / Adv. + that clause.
A< : X subject with, together with, in addition to, fike, unlike, a Step (1) . Sq® subject T T F |
not, rather than, along with, including etc. & 53 &, @ verb W Step (2) 9w Auxiliary Verb &1 1T &3
subject @& Number d4T Person W ¥ &% & Step (3) -t N 1y verb @t _ !
: to AL Ty ST
i.e. The teacher, with all his students, is sitting in the class. S0 B & |

>tep (4) : 5% Adjective / Adverb T 5T F¥ |
Step (5) : not to &Y &aT 2 |

Step (6) : that &T 9917 &1 |



Step (7) : 39YH subject BT AT & |
Step (8) : Tense & Hawfa® can / could &1 FI1T & |

Present tense—can / will
Past tense—could / would

Step (9) : Th verb &l T 1 |
Step (10) : 6 other words &1 YA & |

i.e. Q. She is too clever not to understand the tricks.

A. She is so clever that she will / can understand the tricks.

E

Q. Jesus christ was too kind hearted not to love even hi:

enemies.

A. Jesus Christ was so kind hearted that he loved even hi

enemies.

g TH—
p.d.
Good
Old
Little
Much
Bad
Industrious
Lazy
Noble
Short

c.d.

Better

Older, elder

Less

More

Worse

More industrious
Lazier

Nobler
Shorter
%

98. Isaid to her, “You have done well”. — (Direct speeci)
99. The Nile is a large river in Egypt.

100. Farthest, far @®T superlative form !

s.d.

Best

Oldest, eldest

I east

Most

Worst

Most industrious

Laziest
Noblest

Shortest

3.
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